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YEAR 10 BRIDGING COURSE FOR
YEAR11 MATHEMATICS EXTENSTON 1

NAME:] .

CLASS;J
N

Time Allowed —30 minutes

WEIGHTING 15% towards final result

OUTCOMES REFERRED TO:
All for Yenr 10 in PA, N and WM - preparing Year 10 for Year 11.

EQUIPMENT: Calculators and geometrical instruments will not be
loaned. It is your responsibility to be fully prepared for this task. The only
caleulators permitted are those approved by the Board of Studies.

INSTRUCTIONS:

. Attempt ALL questions.

Start each question on a new sheet of paper.

Write your name and your teacher’s name on each sheet.
Show all necessary working. '

Silent Board of Studies approved calculators are permitted.

SR B

" Start each question on a new sheet of paper,

Ouestion 1

a) The cost of a football jersey is now 395 after an increase of 35%% - What -

was the old price?

b) Bxpress 2.134 as a fraction in simplest form.

kY

¢} Solve 16%* =2,

d) Factorise 2a? - ab— 2157,

" Start each question on a new sheet of paper.

“Question 2

a) Salve Px - I] =7.
b) Factorise fully (a+2)* — (2a +1)°.
. al
¢) Faclorise 1——.
27

d)Solye 2 Y23 .
¥y 7

PTO for questions 3 and 4.
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Start each question on a heet of . ‘Marks
ch q _ new sheet of paper . ) | f w@/
‘Ouestion 3
. ) - 6‘21‘)@ Gow 11358 9%
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a) Simplify P4 FEaieid (). _ GLAJg'_T@ il e
Vi-4 :
b) Find the exact value of x and y if 2= =x+ 3. 3 .
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; le A > 2 13¢ 89
¢) Simplify a™ + (@ +a7)7, _ 3) @ A
: e = 21-36 34 (v
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a) Solve: 5x* —x =6, (2) : e
b) Solve: Bx+2| =1 L @
c} (670 o o -
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(z) 7 X
¢) Solve x* — 6x+8 =0 by completing the square. @ ’ - ‘é%“‘"ﬁ‘-z 2“’—‘5
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